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09132200 pGlght, rbgnLywn 24 lhwp 335 6000 2010.000
09132200 pLlghl, rbgntywp a4 thunp 335 2800 938.000
09134200 nhabiuwyhl Jwetihp, wiwewih (224 thup 318 1800 572.400
09134200 nhabiiwhl ywrebihp, wiwnuwh Q< thup 323 1200 387.600
09211100 wndhsh jninbp Uu thup 1000 30 30.000
09211620 wnbulninghwywo jninkn Uu yhingnwd  [1000 2 2.000
09211820 Gwypwiht jninbp Uu thup 1000 20 20.000
16161100 w); qubwquwo wigbgnpéwlw uwppwynpnuibbp POUL hwtn 12000 2 24.000
19641000 winihkphiG0wiht wwpy, wnph hwiwn PLUL hwin 120 300 36.000
31442100 Uninwyhs dwpuinyngbbn RLUL hwwn 60000 1 60.000
31512430 2hquigiwib (wiwbn POUL [ 120 10 1.200
31685000 ElEYunpwywo Bpywpwgsw (wp POUL hwin 1600 5 8.000
31711160 tlGYwnpnnbp POUL Yhingpwd 1000 75 75.000
32551160 hbrwiunuwihl uwpptn uu hwiun 4000 3 12.000
33691147 pnLOwljnLptp PLUL Apwi 300000 1 300.000
33691176 wj| nbnnpwjp POUL pwd 100000 1 100.000
33711240 whdkrnghy RLUL nwd 3000 1 3.000
33711480 oswn PLUL hwwn 300 22 6.600
33761100 gnigunwih pminp PLUL hwiun 150 25 3.750
34351200 wywnobpbiwibph wihyatp UU hwin 55000 4 220.000
34351200 wywnotpiwtbph wohybtp PCUL hwitn 30000 2 60.000
35821400 npn0kn RCUL hwwn 6200 4 24.800
39224330 nnjbp PLUL hwun 1500 30 45.000
39715200 otirnigowl uwnpkp Uu hwwn 24900 1 24900 |
39715200 otirnigUwl uwnppbp Uu hwwn 11850 1 11.850
39831100 \Jwgnn Gjnipbp RrPUL hwuwn 270 10 2.700
39831240 Jwppnn Gjnuebip PLUL hwiun 250 11 2.750
39831272 uwniig, wowb (qubwne PLUL hwwn 300 7 2.100
39831280 wwwyh dwppbint dhong ROUL hwn 350 3 1.050
39836000 wyby, unynpwywl PLOUL hwun 1000 8 3.000
44111410 akny PLUL Yhingpwid 1600 25 40.000
44163170 rEWhGE junnnywy PLUL gkun 400 150 60.000
44192620 UGju dEunwnwywo PoUL Yhtngpwd 500 3 1.500
44482300 Ypwidwiphg POUL hwin 20000 4 80.000
44511100 dtrph qnpdhplbin RPLUL hwuwn 1600 5 8.000
44511110 pwhbn PLUL hwuwn 1900 120 228.000
44511130 wjgbgnpdwywl bnwhibp PUL hwun 2000 6 12.000
44511150 hwunhsOtip RLUL hwun 8000 4 32.000
44511170 thnghubip PRUL hwiwn 2500 6 15.000
44511190 Lwghllbp RPOUL hwwn 5400 1 5.400
44511200 dtirph unnglbn POUL hwuwn 1900 8 15.200
44511320 fuwnwnglbp Yo ptppsbtp PLUL hwwn 500 20 10.000
Ownuynipentiikp

22211400 wwnpbpwywt hpuwwwpwiygnidbp PRUL pwad 39200 1 39.200
22211400 wwppbpwywl hnwwwpwnasobn Uu pwd 48900 1 48.900
50111130 wywnabpEGwabph yepwinpnqiwl swewjnipinidtbn [POUC - [pwd 584460 1 584.460
50111130 wynnibptwibph yepwinpngdwl swewjnipnatbp (UG Apwd 165000 1 165.000
50311120 hwiwhwnpgswiht uwppbnh wWwhwwbowd L yepubnpngd ROUL Apwd 100000 1 100.000
50311120 hwiwywngswihl vwppbph wWwhwwGiwb L Jepwinpnd U pwd 140000 1 140.000
50511900 duiniuGtph Ygnpnhsbnh Yenwinpngiwl dwewniginf UG Apwd 930000 1 930.000
65131100 2nh wuinwiwpwpowl gwlgh pwhwagnpénti PLUL pwi 4685318 1 4685.318
65311100 ElEYwnpwlwinpw pwptunid POUL pwd 3097710 1 3097.710
66111200 PWOywihb dwrwynuentbtn RRUL pwid 4302 1 4.302
72211174 hwJuywhwywl hwdwluwipgswht spwgpuihl thwebd UG pwd 120000 1 120.000
72311210 unyjwibbph gwigh Yuwrwywniwl swrwnuginiblbn PPUL pwd 270000 1 270.00C
75251200 hwiwhpnbhwih SwewjnipinbaGp POUL pwd 206000 1 206.000




90511150 wnph thnfuwnpiwb Swewjnipmitbp Uu pwd 18560 1 18.560
64111200 tnunughb dwewinigntbObp” Yuwdws bwiwlitph he{RALUL nwid 3000 1 3.000
64211100 hwlpwiht hrwiunuwht dwewjntpinLtitbp PPUL wd 103400 1 103.400
64211120 Ghepwnuwpwihb hGrwpnuughl dwewinigintlOtp PrLUL pwd 139870 1 139.870
45341200 gwllwwwinbph GnOwnwdniy Uu “pwid 520000 1 520.000
70331400 hnntiph Ywewdwpdwl swewjntpntbltp PPUL i 51900 1 51.900
70331400 hnntiph Ywrwdwpiwl dwewjnieintbitp Uu il 575000 1 575.000
71311360 260ptiph swihwgpowd swrwnigntbbp UU nwd 650000 1 650.000
90641100 onwlbgpltph dwppiwl éwrwinipintlGibp PPUL “pwd 200000 1 200.000
98341130 Gwppdwl dwewynieniblbn PLUL pwd 250000 1 250.000
32411130 hwiwgwlg PPUL pwd 168000 1 168.000
99600000 glnLd ghwbnhuwgnn wy) Swiuukn qs6 Apwd 2310000 1 2310.000
Counwdkhp 20880.420
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